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Multiplying and dividing integers
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6. Sentence Pattern:

times equals
Example. 7x(—11)=? Exercise. (—5)x(—8)=?
times equals . times equals
7. Sentence Pattern:
divided by equals
Example. (—30)+5="7 Exercise. (—56)+(—7)="?
divided by equals . divided by equals

8. Operations with integers(# #cehe P )
Which operation should we do first? [ ] addition(+) and subtraction(—) [ | multiplication(x)

and division(+)

Example. 14+(—2)+3%x6="? Exercise. 11 —8x(—2)=?
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f #ic | negative number
st plus
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+3 positive three
—7 negative seven
3X(—2)=—6 Three times negative two equals negative six.
(—20)+4=-5 Negative twenty divided by four equals negative five.
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A0 - g g iR ELF ik gL+ o We can use “+ 17 to express “1 good card”, and
use “— 17 to express “1 bad card”. Then, we use good card and bad card to add or subtract

integers. Next, we want to show how to use good card and bad card to multiply(3k) or

divide(*% ) integers.

5 We start with an easy question. | P 4 3 58 8L+ » o] EF 12 3R g+ » | g
2t P iR SR V3P T S SRR RS - Weuse 1 thumb’s up




icon to express 1 good card, and 1 thumb’s down icon to express 1 bad card. In the picture,
we can find that 3 good cards times 4 equals 12 good cards. 3 & gL+ 3k 12 4 B 1218 )*J'*u €
B 12 % BEE+ > A7 [25RIREEF § 3R IBEEF ch4 B 4 ,]*uz:—\‘,rb Eeniggh+
P REEE 4 R o ET R AP REFR S e B k4T o We express 4
good cards as “+4”, and 12 good cards as “+ 12”. So, now we have “(+4)x3=+12".

£ kg 1 2 f 12 good cards divided by what equals 3 good cards? This is also
an easy question. The answer is 4. B PP i 2 i 3% 30 5 18 2 7 1R 2 g 4
Ko ANpParg 3k 4 E 120 AU EER B 12 ﬁ%.‘l 4)}‘—«Lﬂ 3 o Then, in the
same way, It can be expressed as “+ 12 divided by 4 equals +3”.

Let’ s take a look at question number 2. -] % 3 3 3k4x 8+ » | 25 12 5R4: 2+ >
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So, we can say that “—3 good cards times —4 equals + 12.” Using math symbols,
“(=3)x(—4=+12"

nT&

Please see the right-hand side. 12 good cards divided by what equals 3 bad cards? We
just knew that “—3 times —4 equals + 127, so “12 good cards divided by —4 equals 3 bad
cards.” Using math symbol, we can say “(+ 12)~(—4)= —3".
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